LYDTEK ®
P20 =7 D Azt

5 4 ESREERIL

= =Y LCD B

= TR B AT G
kPa. MPa. kgf/cm?. bar. psi

o W T B T T
- HEMR

= FFEER A
€ &bk s © ops tuEHE
o I A TR o OB ER A R E LW, B
o RN B 314

b/ BRI R E R 56 AR

(R R ED

" R~tE

1.2 41.5
252 7.1

w\ \‘ ‘\‘w‘

‘r’\a
I

12

{

=—=

Bf: mm




4

P20 =7

LYDTEK®
@ #izix

-100 ~ 100 kPa 0~-101 kPa 0.0 ~ 1.0 MPa
-100 ~ 100 kPa 10 ~ -100 kPa -0.1~1.0 MPa
500 kPa 1.5 MPa
=R, EEME, EERE, TR
0.1 -
- 0.001
0.001 0.01
0.001 0.01
0.01 0.1

12t0 24 V DC +10 %, GERKIEE 10 % LIF

<40 mA (FEEHET)

NPN =X PNP $EEEFRTF 2§ 2 & +iESI L (1~5V)
NPN % PNP $£ELAR T 5 2 & H+AE I L (4~20mA)
BEXEBHER: 80mA JRAHESEE: 24vVDC
PNEREERE: <15V

10.2 % F.S. 1 digit

GER

< 2.5 ms ( FEBFERENEINEE: 15 ms, 20 ms, 100 ms, 500 ms, 1000 ms #1 2000 ms AEE)

A

3% L, 7 B LCD BN (ALE [ 4RE | 8 ) (BURE: 5%/1#)

+2 % F.S. *1 digit (7EIBERE : 25£3 °C)

BEiERE1: OUT1 & BEIERE2: OUT2

BHEE: 1~5V25%FS. (BEBHHET)
HiflE: +1 % F.S.
AL 1k Q

HIHER: 4~20mA+2.5%F.S. (BREBNEET)
HigM: #1 %F.S.
B#MEEK: 3000 EEER 12V,
600 Q EER L 24V
ARSI : 50Q

IP 40

EhfE: 0~50°C, {R%: -10 ~ 60 °C (ERERTEKIKRT)

ENERR?E: 35~85% RH (EKE)

1000 V AC 1 5758 ( 5I4R R ZERBINARRE )

50 MQ LLE (500 V DC ) ( SI4R R EBRBINRME )

HEIRIE1.5mm 3 10 G, §—54 10 Hz~55 Hz~ 10 Hz, X. Y. Z B{EFEE 2 /B

100 m/s2(10G), X. Y. ZEBEAEE 3K

$2.5% F.S. LLEXZERE 25 °C (0 ~ 50°C REHEMN )

F1: R1/8", M5; F2: NPT1/8",#10-32 UNF ; F3: G1/8" ( BSPP ), M5

fifit PVC B4R ( 0.15 mm?)

#80g (8% 2 2RHER)

fisi:
1. BB RE LR TR 1-8digits MIEE.

2. BEERHHAEEREL, MESHRREMEEL—.
3 EEERHHFEEREY, MESLHRAREMEEL—.
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P20 (J -010 - [ P20 (0 -011 - O P20 (J-02-01
2NPN + Analog #iiii (1~5V) 2NPN + Analog fiirt (4 ~20 mA) 2NPN
DC (+) (kita) ) e ) (ki) —’>—K—1 DC (+) (kita)
HEEH £ Jour e EE i
O ER 3 , +
& |OUT2(I—|@) = B =
OUT1 (%£2) 0C W 1 & [ e min: Toc i [y OUTT (£1) "?5:24\/
OUT2 (Fifz) i _1 I(if;é}é) 12-24v 0UT2 (F1t) i
DC () () = Tbce e DC () (i)
P20 (] -030 - [ P20 (] -031-[1 P20 (J-04 -]
2PNP + Analog # (1~5V) 2PNP + Analog # (4 ~20 mA) 2PNP
DC (+) (ki) e ]0C (+) (Fif2) 1D (+) (fis)
I_ﬂ OUT1 (f1) K L B (R ) OUT1 (26)
Hl E OuT2 (114) OUTz(Hé) =
% 1k SR DC av s2av
() :
DC () (# ) —— Tocme
m BlSE IR AR ER AR
P20C-010-F 1
| mosim § | o é EECE E | b (i)
C: IRATE (-100 ~ 100 kPa) 010: 2 NPN #it & it (1~5V) F1: R1/8", M5 BT-14: L4
V: HZE (10 ~-100 kPa) 011: 2NPN it & Biftliit (4~20mA) BT-15: L4
P: IEM (-0.1~1.0 MPa) 02 : 2NPN it 20PA-C : THIHC et et
030: 2PNP it & M (1~5V)
031: 2PNP il & Biftlifit (4~20mA)
04 : 2PNP it
I JEEIE

« $E4: BTA4 = L3 BTA5 n CEASERAT: 20PA-C




